Estimate Addition Calailations workksheet

1. Which of these colculatinns
ghe an answer of obout 5007

314 + 278
103 + 415
278+ 121
455 + 182

2. Which of these caloulntions
give an anwer of ahout 2007

vz + 23
319+ XM
117 4 543
131 + 317

gwe an answer of oo B007

T12+ 235
427 + 23
297 + H45
435 + 357

3 Which of these colowlations | 4. Which of these coloulations

ke an answer of abea 10007

BOT + 294
143 + 978
B2 + 1007
&5 + BAT

5. ‘Which of these caloulntices
give an ansaer of about 12007

814 + 253
444 + 756
q7E + N3
523 + 596

b Wi of thes ealoulariens
give an arewer of about 15007
TEb + 747
823 + 576
1235 4 281
925 + 403

T Which ef these caleubatioes
gue on answer of about 20007

1600 + 200
400 + 1900
1300 4 700
1500 + 1500

8. Which of these ealeulanions
gree on answer of about 30007

1500 + 1075
2050 = 960
1025 + 1750
750 + 2200

5. Which of these calcularions
give an, ansavr of about 40007
2314 + 1219
1294 + 32113
3071 « 1012
2410 4 1066

10 Weich af these caloularions
|giee on answer of ohout S0002

2345 & 2675
1350 + 3450

2085 + 1800
2345 & 3180

11, Which of thete coboularions
give an arewer of about 25007

1243 4 217
1183 + 1335
267 + 273
1705 + &7

12, Which of tvse calcubations
gue on onswer of about 35007
2137 + 1124
2900 + 5938
1004 + 2016
908 + 2268

13 Which of these caboulations
giue an ongwer of chout d5007

2290 + 3265
4301 + 139
1355 + 3R10
Qb 4 4267

14 Which of these cokiulations
pive an anveer of about T3007

4562 + 2120
2305 + 5280
1520 + 5063
3TEH 4 533

15 Which af these colculationa
g on arewer af abowr 0000%

9001 + 1054
10349 + 7836
4463 + 551
TERZ 3104




